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1. A manager attempting to select a test for a job applicant that will be a good predictor of the
applicant's performance on the job if hired should be primarily concerned with the of
the test.

2.

3.

4.

5.

A) validity

B) outsourcing capability
C) reliability

D) personality

E) consistency

 Aricelli, a méhégér; negotiaies with her superior to expand her authority to initiate proposals for

possible new product launches, Aricelli has increased which type of power?
A) Reward power

B) Referent power

C) Coercive power

D) Legitimate power

E) None of the above

Andrew Grove, CEO of Intel, holds a Ph.D. in chemical engineering and is very knowledgeable
about the microprocessors that Intel produces. He advises an R&D scientist about a possible new
product idea. Which type of power does Grove have?

A) Expert power '

B) Empowerment power

C) Consideration power

D) Relationship-oriented power

E) None of the above

(@]

TWA gives its gate supervisor the authority to decide when to give a free ticket for a future flight t
_a passenger who has volunteered to give up his seat when a flight has been overbooked. This

represents which type of transfer of authority to the gate agent?

A) Consideration power

B) Relationship-oriented power

C) Referent power

D) Charismatic power

E) Empowerment

Meg, a manager at XYZ Company, treats her managers with respect. We say that she has engaged
in which type of behavior?
A) Initiating structure
B) Consideration
C) Empowerment
D) Task-structure
E) Referent power
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6. An organization gives very specific spemﬁcahons to its suppliers of raw materials the organization

10.

needs to produce goods, in an attempt to improve the quality of those raw materials. This is an
example of:

A) concurrent control.

B) feedforward control.

C) feedback control.

D) bureaucratic control.

E) MBO control.

The manager of a 7-Eleven convenience store keeps track of the average sale amount for each
customer as a way of deciding on the product mix to be carried in the store. This is an example of:
A) bureaucratic control.

B) feedforward control.

C) output control.

D) input control.

E) MBO control.

Given the information below, what is this organization's return on investment (ROI)?
Net Income: $20,000
Advertising Expenses: $220,000
Total Liabilities: $120,000
Total Assets: $160,000
Gross Margin: $80,000

A) 4 percent

B) 7.5 percent

C) 10 percent

D) 12.5 percent

E) None of the above

In general, the more complicated the technology, the the need for a flexible
organizational structure; and the routine the technology, the appropriate is
the use of a formal organizational structure.

A) greater; more; less

B) less; more; less

C) greater; more; more

D) greater; less; less

[Z) none of the above

An accounting firm sends a small team of auditors to evaluate the accounting procedures of a large
business. What type of technology are they applying to this task?

A) Mass-production technology

B) Continuous-process technology

C) Matrix technology

D) Small-batch technology

E) Hybrid technology
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11. In which step of SWOT analysis would “slower market growth” be most likely to arise?

A) S
B) W
C) O
D) T

E) Either S or W

12. Firestone Tire and Rubber Company set up a chain of Firestone retail stores to sell its tires to
American consumers. This is an example of: '
~A) forward vertical integration.
B) a global strategy.
C) afocused-differentiation strategy.
D) a multidomestic strategy.

E) backward vertical integration.

13. Which of the following is NOT a step in 1mplement1ng strategy?
A) SWOT analysis
B) allocating responsibilities
C) holding people responsible
D) establishing a timetable
E) allocating resources

14. Ford Motor Co. gives assembly-line workers the authority to shut down the production line
whenever they believe that there is a quality defect in the production process. This would be an
example of what type of transfer of authority to these workers?

A) Empowerment

B) Relationship-oriented power
C) Consideration power

D) Referent power

E) Charismatic power

15. Which of the following is an example of a tangible reward that a manager can glve toa
subordinate?
A) An attractive job assighment
B) A cash bonus -
C) A pay raise
D) Stock options
E) All of the above

16. What is the main concern of first-level managers?
A) Monitoring the external environment and determining the best strategy to be competitive

B) Putting top management plans into action across the organization
C) Allocating resources and coordinating teams

D) Linking groups of people

E) Facilitating individual performance
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18.

19.

20.

21.

22.

17. The majority of the incubators are operated by

A) large corporations.

B) non-profit organizations.
C) small businesses.

D) international businesses.
E) college drop-outs.

The nineteenth and early twentieth centuries saw the development of which management
perspective?

A) The human relations movement

B) The behavioral sciences approach

C) The classical perspective

D) The quantitative management approach

E) The TQM approach

Irank Gilbreth felt that efficiency equated with
A) one best way to do work

B) leadership flows from the top down

C) procedures and policies

D) scientific management

E) bureaucracy

All of the following are characteristics of Weberian burcaucracy EXCEPT:

A) Labor is divided with clear definitions of authority and responsibility that are legitimized as
official duties.

B) Positions are organized in a hierarchy of authority, with each position under the authority of a
higher onc.

C) All personnel are selected and promoted based on technical qualifications.

D) Administrative acts and decisions are recorded in writing.

E) Management is the same as the ownership of the organization.

Concern for the environment has prompted companies to take all of the following actions,
EXCEPT:

A) Eliminating nonbiodegradable plastic bags {from the environment

B) Hiring an environmental specialist

C) Improving efficiency of plants and factories

D) Investing in cleancr technologics

E) All of these

In relationship-oriented societies, leaders should

A) take a strong personal interest in employees.

B) feel free to criticize as much as they feel they need fo.

C) reprimand in public whenever possible. It is an especially effective technique in these societies.
D) minimize the emphasis on relations given the society's interest.

E) maintain the traditional command-and-control management style.
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24.

25.
" in a suspension. Colleen, the manager, has just decided to suspend one of her shift employees for

26.

27.

28.

23. Sherry is a first-line supervisor at Rooftop Corporation. She is most concerned with which level of

goals?

A) Operational goals
B) Tactical plans

C) Strategic goals
D) Mission statement
E) Vision

When properly managed,  can create additional value with existing resources, providing a big
boost to the bottom line.

A) synergy

B) competitors

C) government contacts

D) command structure

E) cooperation among customers

Bierderlack has a policy that states that more than three absences in a six-month period shall result

violating this policy. This is an example of
A) aprogrammed decision.
B) anonprogrammed decision.

-C) an insignificant decision.

D) poor management.
E) personal grudge.

Beth's Barnyard, Inc. has decided to restructure the entire organization. You hold a meeting with
your employees to notify them of the change. You do not give them any detailed information.
Which of the barriers to change would you expect your employees to exhibit?

A) Disagreements about the benefits

B) Uncertainty about the future

C) A lack of trust

D) Fear of organizational loss -

E) All of these '

With _, compensation is linked to the specific tasks that an employee performs.
A) skill-based pay

B) incentive pay

C) job-based pay

D) salary

E) competency-based pay

All of the following are things bad bosses do to create stress for their subordinates EXCEPT:
A) Bully and harass people to keep them on their toes.

B) Create perpetual doubt about how well employees are performing.

C) Fail to give people credit for their contributions and achievements.

D) Impose unreasonable demands and overwhelming workloads.

E) Tell people exactly what is expected of them.
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30.

31.

33.

29. On the continuum of empowerment, what is the highest level of empowerment that requires the

most complex skills?

A) Self-management

B) Suggestion programs
C) Participation groups
D) Cross-functional teams
E) Periodic briefings

Tiffany recently discovered that the reject rate for her department has exceeded the standard for
performance in this area. What should Tiffany do to exercise effective control?

A) She should order more training for her workforce.

B) She should contact the maintenance department and have them come fix her machinery.

C) She should suspend the poorer workers in her department.

D) She should investigate and discover the cause of the problem.

[) None of these

Although it lacks sources of timber and oil, Chablis has a plentiful supply of grapes for its many
wineries. Which statement about Chablis is true?

A) It has a comparative advantage in wine production.

B) It has a comparative advantage in timber and oil production.

C) It has an absolute advantage in the production of wine.

D) It has an absolute advantage in timber and oil production.

E) It has no comparative or absolute advantages.

Tony Shinn is applying for a mortgage to purchase his first home. His credit rating is mediocre duc

to several late payments on his credit cards and car loan. He is upset because his friend Jerry was

offered an interest rate 3 percent less than what Tony was offered by the same mortgage company.

This mortgage company’s actions were

A) unethical-—both Tony and Jerry should have been charged the same interest rates regardless of
their credit histories.

B) ethical—this is just a part of doing business because credit history isan  important indicator
of future payments.

C) illegal—subjective factors may not be used when determining which credit offers may be
extended to certain customers.

D) unethical if Tony is a minority and Jerry is not.

E) unethical and illegal——customers must all be treated the same.

Vice president, marketing—Regional sales manager—District manager—Sales supervisor
represents a(n)

A) organization chart.

B) command hierarchy.

C) corporate organization.

D) chain of command.

E) departmentalization.
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35.

36.

37.

38.

39.

34. Kraft Foods began producing Jell-O over sixty years ago, and the product continues to be profitable.

All of the following are methods Kraft Foods has probably used to lengthen Jell-O’s product life
cycle EXCEPT

A) product refinement.

B) advertising and promotion.

C) product integration.

D) research and development.

E) product extension.

Daniel, Thomas, and Lucas are partners in a law firm under a typical partnership agreement in

‘which each owns an equal share of the business. Thomas dies suddenly of a heart attack. What will

most likely become of the partnership?
A) Tt will immediately cease to exist and Daniel and Lucas will have to find new jobs.

B) Thomas’s share of the business will automatically be split between Daniel and Lucas.

C) Daniel and Lucas will be able to purchase Thomas’s interest from his estate.

D) Daniel and Lucas will have to quickly find a new partner to take Thomas’s place.

E) It will dissolve, and Daniel and Lucas will lose personal property to pay  business debts.

Coca-Cola wants to determine how popular its new soft drink will be before launching it
nationwide. What will Coca-Cola most likely use‘7

A) Its marketing information system

B) External data

C) Internal data

D) Marketing research

E) Employee survey

In a meeting to generate new products, the advisory committee felt that it had come up with some
excellent ideas. Now that there is a list of product ideas, the next step is

A) business analysis.

B) product development.

C) screening.

D) test marketing.

E) commercialization.

A clothing retailer has been striving to reduce the costs of its inventory, but many of its customers
are switching to competitors because they do rot want to wait for the retailer to order the items.
This retailer is experiencing

A) customer satisfaction.

B) stock-out costs.

C) production concerns.

D) holding costs.

E) just-in-time inventory.

A closed shop means that
A) a person is not allowed to work for a company if he or she is planning on being a member ofa

union.
B) union members get paid a higher wage than nonunion employees.
C) union members receive many more benefits than nonunion employees.
D) employees are protected against loss of their jobs by being members of a union.
E) a person must join the union before being hired.
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40. If a company distributes information about its sexual harassment and discrimination policies to its
employees through its intranet or the Internet, what function is this technology providing?
A) Assisting the sales force
B) Conducting financial activities
C) Training employees
D) Helping employees communicate
E) Recruiting employees
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11. Consider the market of scallion (#) in Taiwan. The Central Weather Burcau predicts that a typhoon
will arrive three days later. Both sellers and buyers expect that the price of scallion will increase
several days later after the typhoon hits Taiwan. What will happen to the equilibrium price and
quantity of scallion today?

a. The equilibrium quantity and price will both increase.

b.  The equilibrium quantity will decrease but the equilibrium price will be uncertain.
c.  The equilibrium price will increase but the equilibrium quantity will decrease.

d.  The equilibrium price will increase but the equilibrium quantity will be uncertain.

12. Which statement below regarding housing markets in Taiwan is wrong?

a. A trend away from multi-generational to single-generation households (g % % 5] 4 & 32 iz 14 4%
Hyo)s F e 2 48 3 will increase the demand for housing in Taiwan.

b. The expectations of an increasing interest rate will reduce housing prices.

¢. Aregulation discouraging banks from lending to investors buying more than one residential unit
will reduce housing prices.

d. Imposing a luxury tax (4% #2) on sellers can reduce housing prices.

13. Peter’s factory produces a toxic waste by-product. If Peter dumps it in the river, he causes damage to
John, a fisherman. Peter can install a filter, in which case John will suffer no damage. The following
table shows their payoffs in two scenarios. Which statement is true below?

a. If the government prohibits Peter from polluting the river, it will be socially optimal.

b. If the river is John’s property, he must stop Peter from polluting the river to maximize his payoff.

c. If John has the right to keep the river clean, Peter will choose to compensate John and keep
polluting the river.

d. If Peter has the right to pollute, he will not to pollute the river because of John’s compensation

(A &),

ae o

[¢]

°© oo o

Pollution No pollution
Peter US$ 1000/day US§$ 800/day
John US§ 150/day USS$ 250/day
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14. For the motorcycle factory whose marginal, average variable, and average total cost curve in the short
run (in a month) are shown in the diagram below, how much profit will this producer earn if the price
of a motorcycle is US$ 1,500?
a. USS$ 35,000
b. US$ 65,000
c. US$ 125,000
d. US$ 750,000

15. Refer to problem 14. If the price of a motorcycle i is US$ 1,250, in the short run, what is the possible
number of motorcycle produced by this factory for profit-maximization?

a. 500
b. 400
c. 300
d 0 .
US $/motorcycle MC
ATC
AVC
1500
1250
1200
1000
number / month
300 500

that they are considering setting up their new shops in Las Vegas. Both of them have three options:
uptown, east, and west, and below is the payoff matrix. If Whole Foods sets up their shop first,
what is the payoff of the sub-game perfect equilibrium (SPE: the equilibrium you get by backward -
induction in an extensive form game) in this game? - o )
a. (90,110)

b. (100,90)

c. (90,110) and (100,90)

d. (180,50) and (45,170)
Trader Joe’s

Uptown East West
' - Uptown (20,30) (45,140) (45,170)
Whole Foods East (180,50) (80,70) (100,90)
West (150,50) (90,110) (75,85)
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1. Ford Motor Co. tests applicants for assembly-line positions on their reading and mathematical abilities
in order to determine if they have the mental abilities necessary to do these types of jobs. What type of

screening procedure is being used?
A) Personality tests
B) Ability tests
C) Situational tests
D) Unstructured tests
E) Adhoc tests

2. The supérvi'sor'of anewly hired school bus driver rides with the new driver for the first week on the

new job to be sure that the driver follows the correct route and the proper safety procedures. In which
aspect of the HRM process is this supervisor involved?

A) Simulation

B) Needs assessment

C) Role-playing

D) On-the-job training

E) Development

3. Getting researchers in different scientific disciplines to work together is difficult because:
A)  They probably come from different countries
B) They concentrate too heavily on theoretical issues
C) They approach the research process differently
D) They are likely to suffer from groupthink
E) They are likely to suffer from social loafing

4. To encourage group cohesiveness, managers should:

A) Discourage the group from forming an identity

B)  Encourage competition between members of a team
C) Reward cooperation between groups

D) Keep measure of group performance confidential
E) Promote inter-group competition

5. Joe, a manager, can hire a new supervisor for his division, Joe has which type of power?

A) Reward power
B) Referent power
C) Legitimate power
D) Coercive power
E) Expert power

6. A production supervisor delegates to a production worker the responsibility to schedule his own work
activities depending on the job requirements on the daily schedule. What type of transfer of authority

has occurred?
A) Referent power
B) Empowerment
C) Relationship-oriented power
D) Consideration power
E) None of the above
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7. A supermarket manager schedules the workers in the supermarket to ensure that enough cash register
clerks are available at different times during the day depending on the expected demand from
customers. This manager has engaged in which type of behavior?

A) Relationship-oriented
B) Consideration

C) Initiating structure
D) Empowerment

E) Referent power

8. At the stage of the process of transforming raw materials into finished goods, managers
typically use control procedures to obtain immediate feedback about how efficiently the
raw materials are being transformed into finished goods.

A) conversion; concurrent
B) input; feedback

C) output; feedforward
D) input; concurrent

EE) output; concurrent

9. An organization scts up a system to monitor unit sales of its products in an attempt to provide a
measure of the changes taking place in customer tastes and the possible resulting impact on future
sales. This is an example of:

A) feedforward control.
B) feedback control.

C) MBO control.

D) bureaucratic control.
E) concurrent control.

10. The manager of a fast-food restaurant such as McDonald's keeps track of the number of customers
served at different periods of the day in an attempt to plan a schedule for workers that matches the
demand for the restaurant's products. This is an example of:

A) output control.

B) Dbureaucratic control.
C) input control.

D) MBO control.

L) feedforward control.

1'1. Given the information below, what is this organization's gross profit ratio?

Net Sales: $200,000
Cost of Goods Sold: $150,000
Operating Profit: $20,000
Total Assets: $250,000
Total Liabilities: $130,000

A) 15 percent

B) 20 percent

C) 25 percent

D) 30 percent

E) None of the above
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12. When a custom-built Rolls Royce automobile is manufactured, what type of technology is being
used?
A) Mass-production technology
B) Continuous-process technology
C) Small-batch technology
D) Matrix technology
E) Hybrid technology

13. When a Ford Explorer SUV is produced, what type of technology is being used?
A) Matrix technology
B) -Small-batch technology
C) Hybrid technology
D) Continuous-process technology
E) Mass-production technology

14. All of the following are principle corporate-level strategies that managers can use to help thelr
organization increase its sales and profits EXCEPT:
A) concentration on a single business.
B) diversification.
C) international expansion.
D) vertical integration.
E) focus.

15. Horse Tire and AR Company purchases rubber plantations in Africa so that it will have a source of
supply for its tire manufacturing plants in Akron, Ohio. This is an example of:
A) forward vertical integration. '
B) aglobal strategy.
C) amultidomestic strategy.
D) backward vertical integration.
E) a focused-differentiation‘ strategy.

16. Consider the following three managers from Outrageous Outfitters, Inc. Tiffany Blanchard is the
pre31dent Timothy Thompson is the director of marketing, and Karen Baxter is a maintenance
supervisor. Which of the following statements is true?

A) Karen Baxter does more planning than Tiffany Blanchard.

B) Timothy Thompson does more leading than Karen Baxter.

C) Tiffany Blanchard does more controlling than Timothy Thompson.
D) Tiffany Blanchard does more planning than Karen Baxter.

E) None of these.

17. Which of the following is the belief by individuals that their future is not within their control but

rather is influenced by external forces?
A) Awareness of passing time
B) Tolerance for ambiguity
C) Internal locus of control
D) External locus of control
E) Deferred locus of control
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18. The
A)
B)
&)
D)
E)

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

A)
B)
C)
D)
E)

three subfields of the classical perspective include
quantitative management, behavioral science, and administrative management.
bureaucratic organization, quantitative management, and the human relations movement.
administrative management, bureaucratic organization, and scientific management.
scientific management, quantitative management, and administrative management.
none of these.

19. Which of the following is not a criticism of scientific management?

It does not appreciate the social context of work.

It does not appreciate the higher needs of workers.

It does not appreciate the careful study of tasks and jobs.

It does not acknowledge variance among individuals.

It tends to regard workers as uninformed and ignored their ideas and suggestions.

20. According to Weber's ideas on bureaucracy, organizations should be based on which of these?

Personal loyalty
Personal references
Rational authority
Family ties
Charismatic authority

21. Integrated Computers, Inc. wants to compile a profile of the customer it will target in its next
promotional mailing. What environment would this be found in?

A) Internal environment
B) Task environment
C) Work environment
D) General environment
E) None of these
22. All of the following are components of cultural intelligence, EXCEPT:
A) Physical
B) Cognitive
C) Emotional
D) Analytical
E) All of these
23.The ____is the basis for the strategic level of goals and plans which in turn shapesthe __ and
__level.
A) goal, mission, tactical
B) objective, operational, mission
C) operational goal, mission and tactical
D) mission, tactical, operational
E) tactical plan, operational, mission

24. When AT&T decided to buy Media One, a cable company, it was pursuing a

functional-level strategy.
internal growth strategy.
multi-domestic strategy.
corporate-level strategy.
business-level strategy.
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25. Mark, a production manager at Kaylie's Kookware, recently chose to schedule his workers to work
overtime. His alternative was to hire more workers. He is now monitoring the consequences of his
choice. This is an example of

A) planning.

B) decision-making.
C) organizing.

D) controlling.

E) leading.

26. Harvest International is anticipating changes in their production procedures. You have been assigned
to identify potential barriers to the change and suggest solutions to these barriers. You are using ‘
A) force field analysis.
B) barrier analysis.
C) negotiation.
‘D) assessment of goals.
E) all of these.

27. Colby is a new interviewer who just finished an interview with Renee. Her professional style and her
flawless grooming immediately struck him. Colby gave Renee a very good evaluation although her
previous work experience and educational background were not that exceptional. What rating error did

Colby succumb to?
A) Halo effect
B) Central tendency
C) Homogeneity
D) Leniency
E) General tendency

28. Which of the following describes a person with the learning characteristics of being good at,
implementing decisions and carrying out plans?

A) Diverger

B) Assimilator

C) Converger

D) Accommodator

E) None of these -

29. The job characteristic of feedback provides the worker with
A) employee growth-need strength.
- B) experienced meaningfulness of work.
C) experienced responsibility.
D) knowledge of actual results.
E) demotivation.

30. Zachary, a manager at ExecuComp, receives quarterly reports, which tracks his department's
production statistics. However, these reports lack key information regarding reject rates. Which of the
following components of the control model need improvement?

A) Measuring actual performance

B) The planning and setting of performance standards
C) SWOT analysis

D) The ability to take corrective action when necessary
E) All of these
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31. Japanese tourists come to experience the magic of Disney World and other attractions around
Orlando, Florida. These tourists are
A) contributing to the United States’ deficit balance of payments.
B) helping increase the balance of payments for Japan.
C) exporting products and services back to Japan.
D) further decreasing the United States’ balance of payments.
E) helping the United States’ balance of payments.

32. Brant promised to repair Carolyn’s car on Thursday. After picking up the necessary part at a
junkyard, he discovered he could not do the job after all and that the junkyard would not buy back the
part. Carolyn does not know about these developments. However, she thinks Brant will be finished
with her car sometime today. What should Brant do?

A) Try to repair the car even though he does not really know how.

B) Try to repair the car so he can at [east get his money’s worth out of it.

C) Call Carolyn to inform her of the problem, and recommend a reputable repair shop.
D) Fake an emergency and contact Carolyn on Monday.

E) Stall for time to read up on car repairs so he can practice on Carolyn’s car.

33. Upon beginning her career at Davidson Inc., a small consulting {irm, Stephanie Benjamin receives a
copy of the firm’s organization chart, which will

A) demonstrate the firm’s informal network of communication.

B) clarify positions and reporting relationships within the firm.

C) not be very useful because small firms don’t usually adhere to a formal structure.

D) probably be outdated because small firms are always changing.

E) indicate the short-, medium-, and long-term goals of the company.

34. Scientists at R&D Labs worked for two years on a project to eventually add more knowledge to the
science of photography. But in a meeting with the board of directors last week, they had nothing new
to report. This is always a risk with

A) Dbasic research.

B) applied research.

C) development and implementation.

D) alack of rescarch.

) underfunded rescarch projects.

35. Kerry wants to start a business to sell handmade jewelry. She is very competent at making the
jewelry and teaching others to make it, and she has saved a reasonable amount of money to start the
business. Who of the following would make the best partner for Kerry?

A) Bailey, an artist with a real flair for new-aged jewelry design

B) Ashley, Kerry’s best friend who is fun to hang out with and good at solving problems

C) Natalie, who has business experience with accounting, management, and marketing

D) Janette, who used to work at the jewelry counter at a department store

E) Darla, an engineer with industrial management experience but no money

36. Which of the following is not a step in the consumer buying decision process?
A) Evaluate alternatives

B) Evaluate after the purchase

C) Acknowledge that a problem exists

D) Look for information

E) Tell other people about the product
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37. As the product idea committee of Foster Manufacturing Company went through its list of possible
new products, it rejected various ideas for one or more reasons. Which of the following is least likely
to be a reason for rejection? ‘

A) The company lacked the expertise to develop and market the product.

B) The product did not match organizational resources.

C) The product would allow the company to increase its annual sales by 20 percent.
D) The product was not consistent with the company’s objectives.

E) The company lacked the needed human resources.

~ |38. The cost of lost sales due to insufficient inventory is called cost.
A) stock-out - ) '
B) order processing

C) holding
D) inventory reduction
E) direct

39. Suppose the economy is enduring a period of higher than usual inflation. What will union
representatives most likely rely on to protect the financial well-being of their members during this
time?

A) Incentive pay raises
B) Seniority

C) Decreasing profits
D) Overtime pay

E) Cost-of-living clause

40. A geographically dispersed group of employees who work for IKEA must work on a project together.
The team leader needs to be able to monitor progress and check availability of employees around the
world very quickly. IKEA would most likely use __ to accomplish its objectives.

A) aspreadsheet program ) '

B) adatabase system

C) amanagement information system -

D) groupware o :

E) collaborative sharing -

—~vRa 2045
45T DA S 1B B X A9 B RALR IR R R BAT R THERAZL -
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According to Compendium of Materia Medica (&35 4% 8), Lonicera Confusa (&4 3¢, a kind of]
medicinal herb) has a good effect on flu. Now, there is an outbreak of bird flu (such as H5N1) in
China; people expect that there will also be an outbreak in Taiwan next several wecks. What will
happen to the equilibrium price and quantity in the market for Lonicera Confusa in this week?

a. The equilibrium price and quantity will increase.

b.  The equilibrium quantity will decrease but the equilibrium price will increase.

c¢.  The equilibrium quantity will increase but the equilibrium price will be uncertain.

d.  The equilibrium price will increase but the equilibrium quantity will be uncertain.

Consider the market of luxury apartments (4 %) in Taipei. To stop speculation (4% 4% %> 44), the
government imposes a 40% luxury tax (481%#2) in the market, which is collected from the sellers.
The price elasticity of demand is not cqually to zero. What will happen to the market of luxury
apartments in Taiwan?

a.  The equilibrium price will decrease but the equilibrium quantity will be uncertain.

b.  The equilibrium price will increase but the equilibrium quantity will be uncertain.

c.  The equilibrium price will decrease but the equilibrium quantity will increase.

d.  The equilibrium price will increase but the equilibrium quantity will decrease.

Peter’s [actory produces a toxic waste by-product. If Peter dumps it in the river, he causes damage to
John, a fisherman. Peter can install a filter, in which case John will suffer no damage. The following
table shows their payoffs in two scenarios. Which statement is irue below?

a. If the government prohibits Peter from polluting the river, it will be socially optimal.

b. If the river is John’s property, he must stop Peter from polluting the river to maximize his payoff.
c. If John has the right to keep the river clean, Peter will choose to compensate John and keep

polluting the river.
d. If Peter has the right to pollute, he will not to pollute the river because of John’s compensation

(1 2).




B WA 104 2EERALERETEFERESTHAAR

#B 24 BE2C [bEAMFTFHERIETA] IR+ 441001

MAHBREERL "TATR, FAFEACGRSE) £4B%3E
Pollution . No pollution
Peter US$ 2000/day US$ 1500/day
John US$ 200/day US$ 300/day
14. For the motorcycle factory whose marginal, average variable, and average total cost curve in the short
run (in a month) are shown in the diagram below, how much profit will this producer earn if the price
of a motorcycle is US$ 1,500?
a. US$ 35,000
b. US$ 65,000
c. US$ 125,000
d. US$ 750,000
15. Refer to problem 14. If the price of a motorcycle is US$ 1,250, in the short run, what is the possible
number of motorcycle produced by this factory for profit-maximization?
a. 500
b. 400
c. 300
d 0
US $/motorcycle MC
ATC
AvVC
1500
1250
1200
1000
number / month
| 300 500
16. COMAC and Embraer are considering entering the market for narrow-body jets. The table below -
represents the strategies and corresponding payoffs of the two manufacturers in different scenarios; in
each cell containing two numbers, the left number represents the payoff earned by COMAC, while
the right one represents the payoff of Embraer. If COMAC moves first, what is the sub-game perfect
equilibrium (SPE: the equilibrium you get by backward induction in an extensive form game) in this
game?
a. Embraer enters and COMAC does not enter.
b. Embraer does not enter and COMAC enters.
c. Embraer enters and COMAC enters.
d. Embraer does not enter and COMAC does not entet.
Embraer
Enter No Enter
Enter -1,-2 2,0
COMAC
_ No Enter 0,1 0,0
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companies decide to use corn to produce fuel. At the same time, climate change is increasing the cost
to grow corn; farmers have to use more fertilizer, insecticide, etc. What will happen to the
equilibrium price and quantity in the market for corn in the world?

a. The equilibrium quantity will increase but the equilibrium price will be uncertain.
b. The equilibrium quantity will decrease but the equilibrium price will be uncertain.
c. The equilibrium price will decrease but the equilibrium quantity will be uncertain.
d. The equilibrium price will increase but the equilibrium quantity will be uncertain.

12. Around 90 years ago, the main products of Taiwan were rice and sugar; a farm could be used for rice

rice in Japan greatly increased. What would happen to the equilibrium price and quantity of cane in
Taiwan?

a. The equilibrium price would decrease, but the equilibrium quantity would increase.

b. The equilibrium price would decrease, and the equilibrium quantity would decrease, too.
c. The equilibrium price would increase, but the equilibrium quantity would decrease.

d. The equilibrium price would increase, and the equilibrium quantity would increase, too.

table shows their payoffs in two scenarios. Which statement is true below?
a. If the government prohibits Peter from polluting the river, it will be socially optimal.
b. Ifthe river is John’s property, he must stop Peter from polluting the river to maximize his payoff.

polluting the river.

(FRE ).

11. Recently, scientists have developed an efficient method to transform corn into fuel, and some

production or cane (i) production. The rice was basically exported to Japan. In 1920s, the price of]

13. Peter’s factory produces a toxic waste by-product. If Peter dumps it in the river, he causes damage to
John, a fisherman. Peter can install a filter, in which case John will suffer no damage. The following

c. If John has the right to keep the river clean, Peter will choose to compensate John and keep

d. If Peter has the right to pollute, he will not to pollute the river because of John’s compensation
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Pollution No pollution
Peter US$ 1500/day US$ 1300/day
John US$ 150/day US$ 300/day

15.

16.

14. For the lunch box ({F'E) seller whose marginal, average variable, and average total cost curve in the

short run (in a week) are shown in the diagram below, how much profit will this seller earn if the
price of each lunch box is NT307

a. NTO

b. NT-10,000
~¢. NT-70,000

d. NT -80,000

Refer to problem 14. How much profit will this seller earn if the price of each lunch box is NT707?
a. NT 90,000

b. NT 80,000
c. NT 20,000
d. NT 10,000

NT /box . MC

ATC
JAVC

70

40
30

35

box / week

2000 3000

COMAC and Embraer are considering entering the market for narrow-body jets. The table below
represents the strategies and corresponding payoffs of the two manufacturers in different scenarios; in
each cell containing two numbers, the left number represents the payoff earned by COMAC, while
the right one represents the payoff of Embraer. If Embraer moves first, what is the sub-game perfect
equilibrium (SPE: the equilibrium you get by backward induction in an extensive form game) in this
game?

a. Embraer enters and COMAC does not enter.

b. Embraer does not enter and COMAC enters.

c. Embraer enters and COMAC enters.

d. Embraer does not enter and COMAC does not enter.

COMAC
Enter No Enter

Enter -2, -1 1,0

Embraer

No Enter 0,2 0,0
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WEAFH Qo A RRA BT AT LS RATREANAE LS - BHifle M 5T R
MR A A NT70 7T 0 438 7 B R A -

a. AR E R AR A S 0 358 F 4 Nash equilibrium 8% » d 48 5T 45 69 B 4454 - (5 9)
b i REAIGNNE (AEARVE) BARLSEL  BRRXERB -~ TFRETEME > £

ERERFHEBEGELT " AT - BAERAKEBEASR » RE$4/4 REHE -
PR AEHBE FHBEROBAERSFERE 450 A F LA 300 AFITHAN
(BB L LFABAAL) » MTFAAL 150 AN 35 LR FTEAGREE > N
—fBLEFeBEGL  HARBHER - G RPEMDTFRARFHEERATTEAC
o9 M JE R4 R IERAASMT 4T E D NT50 4 (F4F8AatymAsy NTSO L) » mF
FANLGBEF  PABBAEIER TREA TR EATFITAL - Z R0 AR A K
¥ 0 ¥; % F 4& Nash equilibrium 85 » & 4897 il 69 22484548 - (5 2)

CERT O TR FBEKSE R TR B AL o K a0 IR HBANAT 0 3REK C

JE St 4542 0 I A A& NT6O T (KT-48) » - A 69 B € s A % NT300,000 T » 3454 A &
HME 25 K H IR E R E E AR A NT12,000 7T 5 i M JE oy I8 R AR & NTS0 & &
AT 25 R 0 3R 2 8- R 69 B £ A A Q& NT18,000 7T - MR ERBR B E4EE -
EEROMAE R AR S A LT 0 2 Nash equilibrium 8% 47T e 69 £
AR o b= AR WRMR (CBE2M) RFEMRLFHL? (104)
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BHABEFELSES LS BH T HEEERE -
1. Find % where (15%)

a.y=7r'\/;+7r‘/; x>0
b'y2/3+x2/3=1

1
c. y=(x-2)*.
x

2. Graph the function f(x)=x+sinx. 0<x <27 State all the extrema; critical points, increasing
and decreasing, concave up and/or down intervals. (15%)

3. TFind the following definite and indefinite intégrations. (25%)

9 dx 3 dx .
a. Jl.ﬁ b. !m c. _[xlnxdx
et ol

4. Determine the following converge. If yes, please find the limit(s). (25%)

C3x _ 3x @
a lim®— b lim V-4 o DY
) n=1 1

X—>0 3x o2
> 3 > 1
d. Z e. y —
n=l 1 + 4 ’ n=1 n'

1
5. Use power series to estimate Ie’xz dx to the fourth decimal point. (10%)
. .

6. % —EA T 2000 £ 250,000 A 0 2 T 2010 £33 300,000 A - E3EA T E5H0E
E o WEwiREE¥Hei (grow exponentially with a constant rate) » AR 2] 2030 R

rngx %57 (10%)
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e Notation and some information:

' iid: identically independently distributed.

N{u,0?): normal distribution with mean p and variance o2

exp()) is the exponential distribution with mean §.

cdf: cuamulative distribution function. pdf: probability density function.
®(t): cdf of standard normal distribution. ‘

$(0.90)=1.28 and ©(0.95)=1.645 and ©(0.975)=1.96 and $(0.99)=2.32.
MGF:moment generating function. M x(f): moment generating function for
the random variable X.

Cou(X,Y) is the covariance of the random variables X and ¥. Var(X) is the
variance of the random variable X. E(X) is the expectation of the random

variable X.

1. Consider the following linear regression model:
Yi=0X;4+e,i=1,...,n,

where Y} is the ith response variable, X, is the ¢th predictor variable, b is the
regression coefficient, and ¢;,7 = 1, ..., n are the iid normal errors with mean
0 and varisnce o2. Please answer the following questions:

(10%)(a) Please calculate the least squared estimator of b.

(5%)(b) Denote the 1@ast squared estimator of b as b. Give a reasonable un-
‘biased estimator for o expressed by ¥;,i =1,...,n, X;,i =1,...,n and b.
Note: The intercept in this linear regression mod.el is 0.

(15%)2. Xi,...,X,, are iid random variables with distribution N (y,0?)
and Yi,...,Y, are iid N(uy,0?). X;,i=1,...,mand ¥;,j = 1...,n are
independent. Please conduct a two-sample t test (two-sided test) to test the
null hypothesis 111 = pe with significance level o

Note: You need to specify the null hypothesis, alternative hypothesis, the
test statistic, and the rejection region.

3. Assume Xj, ..., X, are identically independently distributed with proba-
bility density function
2]

1
f(,0) = anp(w?)‘
(10%)(a) Find the method of moment estimate of .

(10%)(b) Find the maximum likelihood estimate of 8.
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Multiple Choice Questions (Note: only one choice is correct). 5 points for
each question.

1. Assume Xj,..., X, are iid random variables with distribution N(u, o?).
We construct a confidence interval for i, then the length of the confidence
interval for y would decrease if

(a) standard error for 1 increases.
(b) o? increases.

(c) n increases.

(d) sample mean X increases.

2. A survey of the viewing habits of &, group reveals the following information:
(a) 30% watch gymnastics

(b) 30% watch basketball

(c) 20% watch soccer

(d) 15% watch gymnastics and basketball

(e) 10% watch basketball and soccer

(f) 10% watch gymnastics and soccer

(g) 4% watch all three sports

What is the percentage of the group that watch none of the three sports?
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3. Assume the U ~ Unif[0,1]. Which of the following statements is wrong?

(b) Let X ~ exp(l) and F(t) be its cdf, then the distribution of F(X) is
Unif0,1].

(¢) 1—-U ~ Unif|0, 1]
(d) Cov(U,1-U) < —%

Note: If X ~ Unif[0,1], then the pdf (of X) f(z) = 1 if a2 € [0,1];
f(z) = 0 otherwise.

4. Assume Xy, ..., X, are iid normal random variables with mean pg and
variance ¢°. We conduct a test to test the null hypothesis 1t = po, the power
of the test would increase if

(a) n decreases.

(b
(c

(d) standard error for p increases.

type Il error increases.

) the significance level o increases.

5. Xi,..., X, are Hid random variables with probability density function

f(z,8). Which of the following statements about maximum likelihood esti-
mator (MLE) for £ is wrong? _

(a) MLE is usually asymptotically normally distributed.
(b) MLE is not always unbiased.
(¢) MLE uses the information of likelihood.

(d) MLE uses only the first and the second moments,




v L RE 14 EFERLERLEHB AT RNRA

HBLEME  HRAKHER [T ALETHALHEREES] B3k 1 441004
MAFHBRMERE "RAT EAFEAGRER) t5A%4R

6. Toss a fair coin 10000 times. Let A be the event that the number of heads
is between 4900 and 5100. Which number is closest to the probability of A?

7. X and Y are two normal random variables. X ~ N(0,4) and Y ~ N(0,4).
Which of the following statements is correct?

(a) (X,Y) are bivariate normal.
(b) Cov(X,Y) < 4.
(c) Var(X +Y) =8.
(d) B(X+Y)>2.

8. X and ¥ are two independent random variables with MGF Ay (¢) and

My-(t), respectively and a and b are two positive constants. Which of the
following statcients is wrong?

(a) Mox (t) = \/y (ul‘)
(b) i\[‘\'+)v'(t) = ﬂ[\(t);\.[}(f)

() M (0) > Var(X). where Ay (0) is the second derivative of My (t) at
0.

(d) .A.[(.X'_‘Lb) (t) = €bj\»‘[_w(° (t)
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0. Which of the following statements about distribution Is wrong?
(a) The expectation and variance of Poisson distribution are the same.

(b) Sum of two independent Bernoulli random variables with same success
rates p are Binomial random variables.

(¢) If X ~ exp(1), then X* has gamma distribution.

(d) Assume X and Y are two independent random variables. X ~ ezp( 2)
and ¥V ~ exp(2). X + Y has gamma distribution.

10. A researcher wishes to estimate the average height of all students at
National Sun Yat-sen University (NSYSU). He would randomly sample 30
students and measures their heights. He considers the following four ways
of random sampling. Which way of random sampling do you think is most
appropriate?

(a) Go to the gym of the university and randomly select 30 students in the
gy, ‘
(b) Stay at the main entrance of the university and randomly select 30

students who pass the entrance.

(¢) Go to one of the classes of the university and randomly select 30 stu-
dents in that class.

(d) Go to the registration office of the university and take the list of all
students and randomly select 30 students from the list.




